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MENTAL ABILITY
Ix| and g(x) = [x] for each x € R, then

If f: F ‘; ﬂ_ g: R— R are given by f(x) =
. | zg X))} = .

A) 2 n) e oo ©) Z P
‘HLK ﬁwe matrix of order n such that its elements are polynomials in x and
fnwr@ ibﬁpome identical for x = o, then _

t.;'. {wj; 1 -‘é‘factar of |A| (B) (x—a) ~'is a factor of |A

““'F;v‘* is a factor of |A| (D) (x— ) is a factor of A
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(D) None of these

e (€ -1 (D) 5
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ﬂtlm‘l of a curve passing through the point (0, 1) is given by y = I x? . eX > dx
‘\ U equatmn of the curve is written as x = f(y) then f(y)

QEJ"" 2) (B) 3fog,By-2) (c) 3fog,(2-3y) (D) o2y -3)

* the {ntegers m and n are chosen at random between 1 and 100, then the
ﬂ’;a., ﬁb“lty that a number of the form 7™ + 7" is divisible by 5 equals
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f .-.ary

i ,,"j“' e 1 1 1
(A) — 5} = | -
(B) = €, = {2t
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reqmred to form different words with the help of letters of the word
R’ Let m, be the number of words in which | and N are never together

m
nm% ﬁ ,be the number of words which begin with | and ends with R. Then -’;1- is
2
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(B) 1/30 (C) 6 (D) 42
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" LOGICAL AND ANALYTICAL REASONING

a-_jT “_?Qfo lgtters and numbers is given, the terms of which follow certain definite

pattern *_ ‘groups. However, some terms in the series are missing, which are given

in tﬂi—*ﬁ*; me order as one of the options below the series. Choose the correct

» j

s:n];rir.ajg
X W 'Tszo_P12 L 15 K P GiS 7

BB 0. ELIRH (C) 21,G L N,F (D) 23, H K O, H

r — et ‘f ﬁ%m‘.lmbers given in the alternatives are taken | Sl Ts [

in W“T}, ainx. The columns and rows of matrix are r
nur rm-ﬂ,,-;w from 0 to 4. A letter from this matrix can be 0|FIOIMISIR
epr m‘; ed first by its row and then the column number 1 R|F ‘ o|m
a“"faw _can be represented by 03, 10, etc.; 2 Lo Mis|r|F
milarly y -wrw ";’; gmentlfy the correct set for the given 3lrIFlolm!ls
* ;’" FORM a|m{s|r{F|oO

)1, 33, “‘4 01,04,33 (C) 12,13,67,23 (D) 43,22, 24, 33
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eam sitting around a circular table. D is not
dnmc G, who is second to the left of D,

(B) To the immediate left of C
(D) Neighbour of C and A

_ whon given an input line of words, rearranges them
Hltnh step. The following is an illustration of the input

ihiunm will h. Step IV?
(B) be my like se true veto nuke

. (D) veto true nuke like so be my
i'fhlndly the number of Mondays in that month is

R . |

e '* ooy 8 (D) 6

,; Eﬁ“
ﬁmm characters follow a certain tré.id, row-
ou &mm choose the missing character from the

D) 15

' fin an accident the pole turned
g East, started showing South.
Iﬂ' West. In what direction
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Ve ﬁ figures; Circle stands for Honest; Triangle stands for Tactful; Rectangle
Industrlous Square stands for Optimistic.

(A) (B) (C) (D)

'.‘ (B A

(E) (F) (G) (H)

I 1 n below, the traits of three persons X, Y and Z are registered. Based on these
2 Iif , you have to find out as to in which diagram(s) all the three persons can be
- ynmodated All such diagrams where they can find a place together in the same
i; ; ram will be the answer to the question. The correct answer in the question
e Sk ’*'" Bﬂen put as one of the four options given. Find the correct option.

| factful honest, optimistic, Y — tactful, industrious, Z — optimistic, tactful

=A (B) E (C) F (D) H

altemati\re letter of English alphabet from B onwards (including B) is written
wer case (small letters) and the remaining letters are capitalized, then how will
u orlﬂ'l in year 2012 is ‘National Mathematics Day’ celebrated be written 7
’4)% blEMbEr (B) dECEMbETr (C) DeCeMbEr (D) sEpTeMber

1 s ar ﬂ!e question referring to the symbol-letter-number sequences given below.
w J@BSLB1V#QGBGW9KCD3@O£5FR?AY4
In t Ir_; ven series if each symbol exchanges its position with its immediate right

ﬂétter!number Now, how many letters are there in the sequence which are
'fn';_ _I*f tely followed by a number and immediately preceded by a symbol?

51 Wy (B) One (C) Two (D) Three
"""" o FOMPUTERS AND INFORMATION TECHNOLOGY
1; p following Boolean Equation is INCORRECT?
(A) (A+BY=A +B (B) A+AB-= A +B
) X+Y)(X+2) (D) A(A+B)=
| “ of the following Boolean Expression is
:wjﬂ; (B + D) (A+C)

£ (B) (ar +D) (A’ +C) (C) B'D+AC (D) B'D + AC’



: h(a){ 52575 (C) 5256 s

2 B) Trojan
Y Worm. - (D) Multipartite virus

(C) m.mw i
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A) The uqm_a:,- ess nf function arguments (B) The order of the argument number
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W&’!&ﬁn unethical activity as per RFC 10877

ANy & e'Li'?a_a":-..:--';?[_r-:-';.~ NF 1@;‘_ n*:# ﬂ:; C {ggn ‘unauthorized access to the resources of the Internet
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""r P“"m use “AMOLED"
(A) \g G ive-Matrix
_;,,. "‘H’ ;.,m ve-Machine

display screen, AM stands for
(B) Access-Matrix
(D) Access-Machine

Bl (B) HTML (C). SSL (D) HTTPS
ls a hub specified in the 0S| Mode| ?
‘*JH E"sswn Layer (B) Physical Layer

T < ata Link Layer (D) Application Layer

1”4-‘1, following C++ operators cannot be overloaded?
i 1."f5:"5'~‘.;{*',, -y
@A) LI (B) -> (C) ?: (D) *

g ;

...1,1‘; X

. "'i"'r
""d...""

Whi 1 of the following programs is NOT an antivirus program?
_\__ spersky (B) Quick Heal
(©) WinRaR (D) Norton

|1 G %? fscu code for an alphabet requires bits.

(A) 16 (B) 15 (C) 8 (D) 7

"‘mg;nn the following is not a database model available for a database system?
3‘53 ‘Model (B) Relational Model

Hb‘i Brk Model (D) Hierarchical Model

W "mi df the following is used to login to a remote network ?
“HE gps (B) FTP (C) POP (D) TELNET

A no ;L%-- wattribute whose values are derived from the primary key of some other
ta j nown as the of the current table.

(A) Alternate key (B) Foreign key
Jrn-mﬁ‘ ie key (D) Primary key
What does ~? e HTTP status code 404 means ?

hhu;-.‘iﬂfiﬁ f’ used in the URL is incorrect.

HH-

i"r

_‘-:.1__71*7'& er is a@king for some encryption key from the client and not getting it.
The we a:g“-""' 'r is husy
Server can! m.p NG ~tha ﬁle you requested.

(C) DSL (D) ATM
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giv f; fimage illustrates the structure of
__HJ S — 6 bytes

f e 1 2 3 4 - 6
v | 4th byte | 3rd byte | 2nd byte | 1st byte
3nd octet| 4th octet| 5th octet| 6th octet
oi!.:l 3 bytes >
_isatjonally bnique Netwurk% Interface Qontroller
(NIC) Specific
0 : unicast

1 : multicast

0 : globally unique (OUI enforced)

' 1 : locally administered
. .J'“IP address (B) An e-mail address
A .'.: eb address (D) A MAC address

¥ B
______

icmnector (B) AUI Connector
u. hwﬁh rlnector (D) DIX Connector

Which of q;'i’allowmg is a social networking site ?
,11]. T vla,r fﬁ; } ~.,.¢- ol @k‘cnm (B) ZGUppﬂ.COm

'i'-lt"‘;l 'F'Fi ;

(C) wwv ,h;, ke mcnm - (D) All of these
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anisatlon based upon the information given below :
am’ m Keraan multinational conglomerate company.

1:,'L

l ,_lu? I I HI Igsa
iz 1,“5?:{‘:";4% 'm*akmg of mobile phones & tablets.

AN -—-9 TR
[ co d’rﬁ is Lee Byung-chull.

't -.T

. Samsung (C) Micromax (D) Acer

juesiyiubis jsean

l'ldard connector to connect 10Base2 coaxial cables. What is this connector



(B) Realtime Computing
(D) Distributive Computing

hﬂne use either or touch technology to select a

f‘g,,  the screen.
ve, Xen aﬂ@n (B) Resistive, Capacitive

e '| “L F_.-.h, "“‘-‘LLT

ac fﬂ”_-'mifgu-r a_Sﬂfl'ﬂl'l (D) Surface acoustic, Capacitive
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